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Questions

S={1,-1,2, -2} is a group under:
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If sets A and B are equal then:

fW={0,1,2234, ...}, N={1,2,3,4 ... }then N- W =?
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If (x- 2, 2) = (3, 2), then:

The identity element in a group is:

Inverse of an element in a group is:

A groupoid (S) is called if it is associative in S:

The ordered pairs (4, 5) and (5, 4) are:

The disjunction of two statements p and q is denoted by:
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Answers Choice

A. multiplication
subtraction
addition

none of these

equal sets

null sets
overlapping sets
subsets

A
B
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{0}

none of these

ow»

{1,2,3}
{5,6,7}
{4}

A'is superset of B
B is superset of A
A'is subset of B
Ais equivalent to B
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A
B
C
D
A
B.
C.
D
A. unique

B. inifinite

C. bothaand b
D. not possible
A. infinite

B. finite

C. unique

D. not possible

A. group

B. abelian-group

C. semi-group

D. associative-group

A. same

B. different

C. bothaand b
D.N

A. pis false and q is true
B. both p and q are false
C. pistrue and q is false
D. both p and q are true

A. p is false and q is true
B. both p and q are false
C. pistrue and q is false
D. both p and q are true



19 The conjunction of two statements p and q is denoted by:

20 Question Image



